Good afternoon: warm ups
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Your history with functions

vConstant

/Linear

v’ Absolute Value

¥ Quadratic
V" Cubic, Quartic, Polynomial
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ogarithmic
“Trigon ric
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Can you take its derivative?




The Derivative of Log and Exponentials

Some review: |
xP x@ = yb+a |Ogba=>~l — b*=a

(xP)2=xP2 logex = Inx

log x + log y = log (xy)
log x - log y = log (%)
y

loghb®=alogb



e
e = lfm <l+_lfl'\_>n

n —>00



d | (x) =

dx Ak; z"o

f,n(\(-*’b)t)'—,e,h ()C)
ot

N
| Ax
Mﬁn xeh )

X+ a x)AY-

Rﬂ\(f:’ o
le ,QVL( “_ Ax):

Ax->o







Exponential /Logarithmic Derivatives
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Find the derivative of y=e s
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Find the derivative of y = In (3x%3)
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AP CALCULUS PROBLEM BOOK

2.15 Excitement with Derivatives!

FiND ' FOR EACH OF THE FOLLOWING,

866, = o2
857, y = M/2
558, y = i’
559. u

560, y = 8%
861, y =37

FIND THE DERIVATIVE OF EACH FUNCTION IN SIM

574. glz) = 1™
§75. Z(z) = 4eie' 3
576. g(x) =In(e" +1)
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577, f(z) R

§78. k() = logg(a® + ¢*)
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562, = 2inr
563, y=9"*

564. 5 = -

665, y = In(s%)
566, y = In(2 — %)

567, y = ln(bz +1)

580. D{x) =In{lnzx)

581. A(z) =In{z* +x+1)*
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Fixp '—v IN SIMPLEST FACTORED FORM.
dx

§96. y = drosc2r
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598. = veot Sx

588, y = dsin8rcos8r

lni

601. y = cos’ 3o —sin® 3

802 y = Mo

603, y =

604. y = log(sin2r)

605, y = re" W

Mathematics is queen of the sciences, —Eric Temple Beil

568. y = Iufsinr)
569. y = (lur)?
570. y = log,(1+ x)
871 = log, T
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LEST FACTORED FORM.
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606. y = tana

807. y = /7’

608, y =/t

809. y = In[secr + tanx)

B10. y = retin ™




